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Dear Year 5 and 6,

Thank you so much fo all of you for your continued hard work and thank you o those who ZEANSEEEN

have sent work in, T have absolutely loved reading through it all. T am thrilled with how hard
you are dll working. I am missing you ll very much but hope you've dll been en joying your
time at home.

This work pack is for the next three weeks and is mainly focused around our end of year

culturdl topic ‘Austrdlia’l
Remember to go on IDL and mathletics as much as possible and try to read everyday.
* W Here are some other ideas of activities you might dlso like fo try out:

o Joe Wicks is streaming live PE sessions Monday to Friday on his YOUTUBE

channel.
o Try https://family.gonoodle.com/ to keep active

e Why not have a go at scratch and do some credfive computer programming:
http://scratch.mit.edu/explore/pro jects/games/

e Get out into the garden and become a nature detective and get some ideas at
https://naturedetectives.woodiandtrust.org.uk/naturedetectives/

e https://www.bbc.co.uk/bitesize/levels/ has some amazing resources which might
help!

e Cosmic kids for yoga and stretching acftivities

e Search ‘peace out’ for stories o help you sleep.

Please contact me at any point by email or by phone as I am always here to help. Enjoy
and stay safe!

% *’* Mrs Stocks

rachael.stocks@swarland.northumberland.sch.uk

twinkl.co.uk
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WB1.6.20 varied verb form page 38
WB 8.6.20 changing tense page 39
WB15.6.20 standard English: confusing words page 4-

Speling

ST \WB 1.6.20 plurd nouns. If a noun ends in s, ss. x, sh, fch or ch we add es to make it
R plural. Bonus - bonusses. Address - addresses. Box - boxes. Wish - wishes. Match -
matches. Peach - peaches.

WB 8.6.20 plurdl nouns. If a noun ends in a consonant + o we often add es fo make it
*

plurdl. Potato - potatoes. Echo- echoes. Hero-heroes. S >
*x

WB 15.6.20 year 6 spelings - government, conscience, twelfth, conscious, soldier,
shoulder, parliament, environment.

1 Please see activity suggestions in guidance handed out in the first week.

® Maths
Please find attached a mental maths booklet for the rest of this half term.

N

2R\ 1.6.20 To read, write and recognise dl metric measures. Which units measure
length? Mass? Capacity? Choose the appropriate unit of measure for different things. To
covert between units of length, mass and capacity using your knowledge of multiplying and
diiding by 10, 100 and 1000. To use knowledge of conversions to solve measurement

problems.

WB 8.6.20 Imperial measures - Children need fo know and use the following facts: 1
foot is equal 012 inches ¢ 1 pound is equal to 16 ounces ¢ 1 stone is equal to 14 pounds ¢ 1
s~pzzmrmm  gdllon is equal to 8 pints ¢ 1inch is approximately 2.5 cm

"SI \\& 15.6.20 Area and Perimeter - How do we work out the area and perimeter of

shapes? Can you show this as a formula? https://www.bbc.co.uk/teach/class-clips-video/maths-
ks2-understanding-area-and-perimeter/zb8 /139




W
& i3]

| &y MENTAL 7
ARITHMETIC |
| YEAR 6 J
|

| SPRING TERM

|




I
E

© MathSphere www.mathsphere.co.uk

MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 1

Paper 1

Answer

Paper 2

Answer

1. How many times larger is
76 000 than 767

2. How many times bigger is
460 than 4.67

3. How many £100 notes are in
£3 5007

4. How many £100 are in
£120 0007

5. The temperature in Canada
was 5°C. It falls by 9°C. What
is the new temperature?

6. The temperature in Alaska
was —10°C. It rises by 6°C.
What is the new temperature?

7. Round 5 656 to the nearest
thousand.

8. Round 4 099 to the nearest
thousand.

9. 8 divided by 10.

10. 5 divided by 10.

1. How many times larger is
57 000 than 577

2. How many times bigger is
830 than 8.37

3. How many £100 notes are in
£6 9007

4. How many £100 are in
£550 0007

5. The temperature in Austria
was 7°C. It falls by 10°C. What
is the new temperature’?

8. The temperature at the North
Pole was — 9°C. It rises by
4°C. What is the new
tempetature?

7. Round 4 399 to the nearest
thousand.

8. Round & 800 to the nearest
thousand.

9. 6 divided by 10.

10. 9 divided by 10.

Comment:

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 2

Paper 3 Answer Paper 4 Answer

1. What are two lots of 367 1. What are two lots of 297

2. What s twice 487 2. What is twice 387

3. Double 84. 3. Double 78.

4. Double 76. 4. Double 66.

5. What is half of 1307 5. What is half of 1707

6. What is half of 2507 6. What is half of 3507

7. 0.6 times 20. 7. 0.9 times 20.

8. 0.4 times 20. 8. 0.3 times 20.

9. Share £81 between 9 children. 9. Share £108 between 9 children.
How much do they get each? How much do they get each?

10. Share £121 between 11 10. Share £144 between 12
children. How much do they children. How much do they
each get? each get?

Comment: Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 3

Paper 5

Answer

Paper 6

Answer

1. Increase 470 by 280.

2. Increase 390 by 160.

3. How many altogether are 476
and 3247

4, How many altogether are 355
and 2457

5. What is 646 take away 5457

6. What is 720 take away 3157

7. What must | take from 7.6 to
leave 3.27

8. What must | take from 5.4 to
leave 1.97

9. Add 1.4 and 1.8.

10. Add 2.7 and 3.8.

1. Increase 540 by 180.

2. Increase 460 by 380.

3. How many altogether are 345
and 5557

4. How many altogether are 277
and 1237

5. What is 816 take away 7057

6. What is 510 take away 4567

7. What must | take from 6.9 to
leave 2.77

8. What must | take from 7.1 to
feave 2.27

9. Add 2.3 and 1.9.

10. Add 3.5and 1.9.

Comment:

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 4

Paper 7

Answer

Paper 8

Answer

1. Which is larger: cne third or
three tenths?

2. Which is larger one half or two
fifths?

3. How many thirds is the same
as four sixths?

4. How many eighths is the same
as three quarters?

5. How many halves in 8727

6. How many halves in 10%?

7. What is three tenths of 707

8. What is four tenths of 807

9. Take 1.1 from 6.

10. Take 2.1 for 4.

1. Which is larger: two thirds or
nine tenths?

2. Which is larger one half or five
ninths?

3. How many quarters is the same
as twelve sixteenths?

4. How many tenths is the same
as a half?

5. How many halves in 327

6. How many halves in 9%

7. What is seven tenths gf 507
8. What is nine tenths of 207
9. Take 1.1 from 7.

10. Take 2.1 for 9.

Comment:

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 5

Paper 9 Answer Paper 10 Answer
1. 2 000 take way 875. 1. 2 000 take way 390,
2. 3 000 subtract 155. 2. 3000 subtract 460.
3. 426 add 555. 3. 517 add 499.
4. 820 plus 340. 4, 770 plus 280.
5. Add 2.9 to 3.6. 5. Add 2910 4.2.
6. Add 3.910 4.5. 6. Add 3.9t06.7.
7. Subtract 1.9 from 5.3. 7. Subtract 1.9 from 5.8.
8. Subtract 2.9 from 6.7. 8. Subtract 2.9 from 8.3.
9. What is 80 + 20 + 60 ? 9. Whatis 40 + 50+ 607
10. Whatis 60+ 30 + 507 10. Whatis 60+ 70 + 807
Comment: Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 6

Paper 11

Answer

Paper 12

Answer

1. If ten cans of cola cost £4.80,
how much would one cost?

2. If ten newspapers cost £3.50,
how much would one cost?

3. If 100 bars of chocolate cost
£35, how much would one
cost?

4. If 100 packs of sweets cost
£50, how much would one
cost?

5. A pair of trainers cost £44.50.
They were reduced to half
price in a sale. How much are
they in the sale?

6. A CD cost £16.30. it was
reduced by 50 % in a sale.
What is the sale price?

7. Take £5.65 from £10.

8. Subtract £3.03 from £10.

9. Double £32.23.

10. Double £45.45.

1. Iften cans of cola cost £6.40,

[9.2]

1

how much would one cost?

. If ten newspapers cost £3.50,

how much would one cost?

. If 100 bars of chocolate cost

£27, how much would one
cost?

. If 100 packs of sweets cost

£70, how much would one
cost?

. A pair of trainers cost £680.88.

They were reduced to half
price in a sale. How much are
they in the sale?

. ACDcost £21. [t was

reduced by 50 % in a sale.
What is the sale price?

. Take £4.20 from £10,

. Subtract £6.05 from £10.

. Double £42.21

0. Double £13.35.

Comment;

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 7

Paper 13

Answer

Paper 14

Answer

1. There is 355 mi of milk in a
jug. Another 250 mi is added.
How much is now in the jug?

2. A glass holds 440 ml of water.
it is half full. How much water
is in the glass?

3. How many grams of salt need
to be added fo 1.74 kg to
make 2 kg?

4. How many mi of lemonade
need to be added fo 0.75 litres
to make 2 litres?

5. Which is more 10 kg or 10 ib?

6. Which is more 10 miles or 10
km?

7. Write 4.321 km in metres.

8. Write 650 ml in litres.

9. Write 530g in kilograms.

10. Write 0.206 km in metres.

1, Thereis 240 miof mikk in a
jug. Another 260 ml is added.
How much is now in the jug?

2. A glass holds 680 ml of water.
it is half full. How much water
is in the glass?

3. How many grams of salt need
to be added to 0.45 kg to
make 1 kg?

4. How many ml of lemonade
need to be added to 0.95 litres
to make 1 litre?

5. Which is more 2 kg or 2 Ib?

6. Which is more 5 miles or 12
km?7

7. Write 0.034 km in metres.

8. Write 55 ml in litres.

9. Write 420g in kilograms.

10, Write 0.1 km in metres.

Comment:

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 8

Paper 15

Answer

Paper 16

Answer

1. What is 4 760 grams to the
nearest kilogram?

2. What is 2 099 grams to the
nearest kilogram?

3. A rectangle is 8cm long and
9% cm wide. What is its area?

4. A rectangle is 15% cm long
and 4 cm wide. What is its
area?

4]

. A square has sides 12 cm
long. What is its area?

6. A square has sides 20 cm
long. What is its area?

7. A square has an area of 81 sq
cm. What is the length of one
side?

8. A square has an area of
900 sq cm. What is the length
of one side?

9. Which number when multiplied
by itself gives 1007?

10. Which number when
multiplied by itself gives 1217

o

1

. What is 7 099 grams to the
nearest kilogram?

. What is 5 555 grams to the
nearest kilogram?

. Arectangle is 14% cm long and
10 cm wide. What is its area?

A rectangle is 25% cm long and
4 cm wide. What is its area?

. A sguare has sides 11 cm
long. What is its area?

. A square has sides 30 cm
long. What is its area?

A square has an area of 144 sq
em. What is the length of one
side?

A square has an area of
400 sq cm. What is the length
of one side?

Which number when muitiplied
by itself gives 17

0. Which number when
multiplied by itself gives 1 6007

Comment:

Comment;
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 9

FPaper 17 Answer Paper 18 Answer
1. 4 000 - 1 690. 1. 2 000 - 1440
2. 3000-28670. 2. 5000 -3 790.
3. 460 + 461, 3. 422 +423.
4, 352 + 353. 4. 550 + 551.
5. Add 1.9t06.8. 5. Add 1.9to 8.1,
6. Add 2.9 to 8.3. 6. Add 2.91t0 8.7,
7. Take 2.9 from 7. 7. Take 2.9 from 4.
8. 1001 subtract 450. 8. 1 001 subtract 330.
9. 1001 subtract 220. 9. 1001 subtract 670.
10. What do you need to add to 10. What do you need to add to
29 to make 1007 59 to make 1007
Comment: Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 10

Paper 19

Answer

Paper 20

Answer

1. 5600 plus 2 500.

2. 3 800 plus 1 700.

3. 4 700 subtract 1 800.

4. 3 400 subtract 1 900.

5. What must | add to 4.35 to
make 57

6. What musti addto 2.7%to
make 37

7. 0.2 plus 0.06.

8. 0.3 plus 0.03.

9. 0.4-0.13.

10. 0.5-0.35.

1. 4 300 plus 1 800.

2. 2 700 plus 2 300.

3. 5 200 subtract 1 300.

4. 4 400 subfract 1 700.

5. What must | add to 2.77 to
make 37

6. What must | add to 2.07 to
make 37

7. 0.6 plus 0.02.

8. 0.7 plus 0.08.

9. 0.5-0.29.

10. 0.7 -0.44.

Comment:

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 11

Paper 21

Answer

Paper 22

Answer

1. What is 10% of £57

2. What is 10% of £157

3. What is 50% of £257

4, Whatis 50% of £217

5. \What must | add to 0.12 to
make 17

6. What must | add to 2.87 to
make 107

7. 0.09 plus 0.3.

8. 0.04 plus 0.6.

9. 0.4 take 0.22.

10. 0.5 take 0.39.

1. What is 10% of £77

2. What is 10% of £187

3. What is 50% of £317

4. What is 50% of £70?

5. What must ! add to 0.04 to
make 17

6. What must | add to 2.41 to
make 107

7. 0.06 plus 0.8.

8. 0.07 plus 0.63.

9. 0.8 take 0.11.

10. 0.4 fake 0.18.

Comment:

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 12

Paper 23

Answer

Paper 24

Answer

1. Is 71 divisible by 37

2. Is 54 divisible by 37

3. 1s 441 divisible by 97

4. s 406 divisible by 97

5. What are the factors of 97

6. What are the factors of 107

7. What is eleven squared?

8. What is eight squared?

9. Find three tenths of 40.

10. Find seven tenths of 60,

1. Is 81 divisible by 37

2. |s 47 divisible by 37

3. |Is 881 divisible by 97

4. 1s 432 divisible by 9?

5. What are the factors of 87

6. What are the factors of 157

7. What is twelve squared?

8. What is twenty squared?

9. Find three tenths of 90.

10. Find seven tenths of 80.

Comment:

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 1

Paper 1 Answer Paper 2 Answer
1. How many times larger is 1 000 . How many times larger is 1 000
76 000 than 767 57 000 than 577
2. How many times bigger is 100 . How many times bigger is 100
460 than 4.67 830 than 8.37
3. How many £100 notes are in 35 . How many £100 notes are in 69
£3 5007 £6 9007
4. How many £100 are in 1200 . How many £100 are in 5500
£120 0007 £550 0007
5. The temperature in Canada - 4°C . The temperature in Austria -3°%Cc
was 5°C. It falls by 9°C. What was 7°C. It falls by 10°C. What
is the new temperature? is the new temperature?
6. The temperature in Alaska - 4°C . The temperature at the North -5°%C
was —10°C. It rises by 6°C. Pole was — 9°C. It rises by
What is the new temperature? 4°C. What is the new
temperature?
7. Round 5 656 to the nearest 6 000
thousand. . Round 4 399 fo the nearest 4 000
thousand.
8. Round 4 099 to the nearest 4 000
thousand. . Round 8 900 to the nearest 9000
thousand.
9. 8 divided by 10. 0.8
9. 6 divided by 10. 0.6
10. 5 divided by 10. 0.5
10. 9 divided by 10. 0.9

Comment;

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 2

Paper 3 Answer Paper 4 Answer

1. What are two lots of 367 72 1. What are two lots of 207 58
2. What is twice 487 96 2. What is twice 387 76
3. Double 84. 168 3. Double 78. 156
4. Double 76. 152 4. Double 66. 132
5. What is half of 1307 65 5. What is half of 1707 85
6. What is half of 2507 125 6. What is half of 3507 175
7. 0.6 times 20. 12 7. 0.9 times 20. 18
8. 0.4 times 20. 8 8. 0.3 fimes 20. 6
9. Share £81 between 9 children. £9 9. Share £108 between 9 children. £12

How much do they get each? How much do they get each?
10. Share £121 between 11 £11 10. Share £144 between 12 £12

children. How mugch do they children. How much do they

each get? each get?
Comment: Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 3

Paper 5 Answer Paper 6 Answer
1. Increase 470 by 280. 750 1. Increase 540 by 190. 730
2. Increase 380 by 160, 550 2. Increase 460 by 380. 840
3. How many altogether are 476 800 3. How many altogether are 345 900
and 3247 and 5557
4. How many altogether are 355 600 4. How many altogether are 277 400
and 2457 and 1237
5. What is 646 take away 5457 101 5. What is 816 take away 7057 111
6. What is 720 take away 3157 405 6. What is 510 take away 4567 54
7. What must | take from 7.6 to 4.4 7. What must | take from 6.9 to 4.2
leave 3.27 leave 2.77
8. What must | take from 5.4 to 3.5 8. What must | take from 7.1 to 4.9
leave 1.97 leave 2.27
9. Add 1.4 and 1.8. 3.2 9. Add 2.3 and 1.9. 4.2
10. Add 2.7 and 3.8. 6.5 10. Add 3.5 and 1.9. 5.4

Comment:

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 4

Paper 7 Answer Paper 8 Answer
1. Which is larger: one third or One 1. Which is larger: two thirds or Nine
three tenths? third nine tenths? tenths
2. Which is larger one half or two Cne 2. Which is larger one half or five Five
fifths? half ninths? ninths
3. How many thirds is the same Two 3. How many quarters is the same Three
as four sixths? thirds as twelve sixteenths? quarters
4. How many eighths is the same Six 4. How many tenths is the same Five
as three quarters? eighths as a half? tenths
5. How many halves in 8%47 17 5. How many halves in 3%7 7
halves halves
6. How many halves in 10%7? 21 6. How many halves in 927 19
halves halves
7. What is three tenths of 707 21 7. What is seven tenths of 507 35
8. What is four tenths of 607 24 8. What is nine tenths of 207? 18
9. Take 1.1 from 6. 4.9 9. Take 1.1 from 7. 5.9
10. Take 2.1 for 4. 1.9 10. Take 2.1 for 9. 6.9
Comment: Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 5

Paper 9 Answer Paper 10 Answer
1. 2 000 take way 875. 1125 1. 2 000 take way 390. 1610
2. 3 000 subtract 155. 2 845 2. 3 000 subtract 460. 2 540
3. 426 add 555. 981 3. 517 add 499. 1016
4, 820 plus 340. 1160 4. 770 plus 280. 1050
5, Add 2.9 to 3.6. 6.5 5. Add291to4.2. 7.1
6. Add 3.91t0 4.5. 8.4 6. Add 3.9t06.7. 10.6
7. Subtract 1.9 from 5.3. 3.4 7. Subtract 1.9 from 5.8. 3.9
8. Subtract 2.9 from 6.7. 3.8 8. Subtract 2.9 from 8.3. 54
9. Whatis 80 + 20+ 60 ? 160 9. What is 40 + 50 + 60 ? 150
10. Whatis 60+ 30 + 507 140 10. Whatis 60+ 70 + 807 210
Comment: Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 6

Paper 11 Answer Paper 12 Answer
1. If ten cans of cola cost £4.80, 48p 1. If ten cans of cola cost £6.40, 64p
how much would one cost? how much would one cost?
2. If ten newspapers cost £5.50, 55p 2. If ten newspapers cost £3.50, 35p
how much would one cost? how much would one cost?
3. If 100 bars of chocolate cost 35p 3. If 100 bars of chocolate cost 27p
£35, how much would one £27, how much would one
cost? cost?
4. If 100 packs of sweets cost 50p 4, 1f 100 packs of sweets cost 70p
£50, how much would one £70, how much would one
cost? cost?
5. A pair of trainers cost £44.50. £22.25 5. A pair of trainers cost £60.88. £30.44
They were reduced to half They were reduced to half
price in a sale. How much are price in a sale. How much are
they in the sale? they in the sale?
6. ACD cost £16.30. it was £8.15 6. A CD cost £21. it was £10.50
reduced by 50 % in a sale. reduced by 50 % in a sale.
What is the sale price? What is the sale price?
7. Take £5.65 from £10. £4.35 7. Take £4.20 from £10. £5.80
8. Subtract £3.03 from £10. £6.97 8. Subtract £6.05 from £10. £3.95
9. Double £32.23. £64.46 9. Double £42.21 £84.42
10. Double £45.45. £90.90 10. Double £13.35. £26.70

Comment:

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 7

Paper 13 Answer Paper 14 Answer
1. There is 355 ml of milk in a 605 mi 1. Thereis 240 ml of milkk in a 500 mi
jug. Another 250 ml is added. jug. Another 260 ml is added.
How much is now in the jug? How much is now in the jug?
2. A glass holds 440 ml of water. | 220 mi 2. A glass holds 680 mi of water. 340 mi
it is half full. How much water It is half full. How much water
is in the glass? is in the glass?
3. How many grams of salt need 260 g 3. How many grams of salt need 550 g
to be added to 1.74 kg to to be added to 0.45 kg to
make 2 kg? make 1 kg?
4. How many ml of lemonade 1 250 4. How many mi of lemonade 50mi
need to be added to 0.75 litres mi need to be added to 0.95 litres
to make 2 litres? to make 1 litre?
5. Which is more 10 kg or 10 |b? 10 kg 5. Which is more 2 kg or 2 Ib? 2 kg
6. Which is more 10 miles or 10 10 6. Which is more 5 miles or 12 12 km
km? miles km?
7. Write 4.321 km in metres. 4321 7. Write 0.034 km in metres. 34m
m
8. Write 850 ml in litres. 0.6501 8. Write 55 ml in litres. 0.0551
9. Write 530g in kilograms. 0.530 9. Write 420g in kilograms. 0.420
kg kg
10. Write 0.206 km in metres. 206 m 10. Write 0.1 km in mefres. 100 m

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 8

Paper 15 Answer Paper 16 Answer
1. What is 4 760 grams to the 5 kg 1. What is 7 099 grams to the 7 kg
nearest kilogram? nearest kilogram?
2. What is 2 099 grams to the 2 kg 2. What is 5 555 grams to the 6 kg
nearest kilogram? nearest kilogram?
3. Arectangle is 8cm long and 76 5q 3. Arectangleis 14% cmlong and | 145 sq
9% om wide. What is its area? cm 10 cm wide. What is its area? cm
4. Arectangie is 15/ cm long 62 sg 4. Arectangle is 25% cmlong and | 102 sq
and 4 cm wide. What is its cm 4 cm wide. What is its area? cm
area”?
5. A square has sides 11 cm 121 sq
5. A square has sides 12 cm 144 sq long. What is its area? cm
fong. What is its area®? cm
6. A square has sides 30 cm 900 sq
6. A square has sides 20 cm 400 sq tong. What is its area? cm
long. What is its area? cm
7. A square hasanareaof 144sq | 12cm
7. A sguare has an area of 81 sg 9cm cm. What is the length of one
cm. What is the length of one side?
side?
8. A square has an area of 20 cm
8. A square has an area of 30 cm 400 sq cm. What is the length
900 sq cm. What is the length of one side?
of one side?
8, Which number when multiplied 1
9. Which number when multiplied 10 by itseif gives 17
by itself gives 1007
10, Which number when 40
10. Which number when 11 multiplied by itself gives 1 6007

multiplied by itself gives 1217

Comment:

Comment:
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 9

Paper 17 Answer Paper 18 Answer
1. 4 000-1680. 2310 1. 2000 -1 440. 560
2. 3000-2670. 330 2. 5000-3790. 1210
3. 460 + 461. 921 3. 422 + 423, 845
4. 352 + 353 705 4. 550 + 551. 1101
5. Add 1.9t06.8. 8.7 5. Add 1.9to 8.1. 10
6. Add 2.9t0 8.3. 11.2 6. Add 2.9 t0 8.7. 11.6
7. Take 2.9 from 7. 4.1 7. Take 2.9 from 4. 1.1
8. 1001 subtract 450. 551 8. 1001 subtract 330. 671
9. 1001 subtract 220. 781 9. 1 001 subtract 670. 331
10. What do you need to add to 71 10. What do you need to add to 41

29 to make 1007 59 to make 1007

Comment: Comment:




© MathSphere www.mathsphere.co.uk

MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 10

Paper 19 Answer Paper 20 Answer

1. 5600 plus 2 500. 8 100 1. 4 300 plus 1 800. 6 100
2. 3 800 plus 1700. 5 500 2. 2700 plus 2 300. 5000
3. 4 700 subtract 1 800. 2 900 3. 5200 subtract 1 300. 3900
4. 3400 subtract 1 900. 1 500 4. 4 400 subtract 1 700. 2700
5. What must | add to 4.35 to 0.65 5. What must | add to 2.77 to 0.23

make 57 make 37
6. What must! addto 2.79 to 0.21 6. What must | add to 2.07 to 0.93

make 37 make 37
7. 0.2 plus 0.06. 0.26 7. 0.6 plus 0.02. 0.62
8. 0.3 plus 0.03. 0.33 8. 0.7 plus 0.08. 0.78
9. 04-0.13. 0.27 9. 0.5-0.29. 0.21
10. 0.5-0.35. 0.15 10. 0.7 - 0.44. 0.26
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 11

Paper 21 Answer Paper 22 Answer
1. What is 10% of £57 50p 1. What is 10% of £77 70p
2. What is 10% of £157 £1.50 2. What is 10% of £187? £1.80
3. What is 50% of £257 £12.50 3. What is 50% of £317 £15.50
4. What is 50% of £217? £10.50 4. What is 50% of £707 £35
5. What must | add to 0.12 to 0.88 5. What must | add to 0.04 fo 0.96
make 17 make 1?
6. What must ! add to 2.87 to 7.13 6. What must | add tc 2.41 fo 7.59
make 107 make 107
7. 0.09 plus 0.3. 0.39 7. 0.06 plus 0.8. 0.86
8. 0.04 plus 0.6. 0.64 8. 0.07 plus 0.63. 0.7
9. 0.4 take 0.22. 0.18 9. 0.8 take 0.11. 0.69
10. 0.5 take 0.36. 0.11 10. 0.4 take 0.18. 0.22
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MENTAL ARITHMETIC : YEAR 6 : SPRING TERM : WEEK 12

Paper 23 Answer Paper 24 Answer
. 1s 71 divisible by 37 No . Is 81 divisible by 37 Yes
. is 54 divisible by 37 Yes . Is 47 divisible by 37 No
. Is 441 divisible by 97 Yes . 1s 881 divisible by 97 No
. Is 406 divisible by 97 No . Is 432 divisible by 97 Yes
. What are the factors of 87 1,3 9 . What are the factors of 87 1, .’;, 4,
. What are the factors of 10?7 1, 2, 5, . What are the factors of 157 1, 3, 5,
10 15
. What is eleven squared? 121 . What is twelve squared? 144
. What is eight squared? 64 . What is twenty squared? 400
. Find three tenths of 40. 12 . Find three tenths of 90. 27
10. Find seven tenths of 60. 42 10. Find seven tenths of 80. 56
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Perimeter, Area and Volume

g

’
L]

Area and perimeter by counting
and measuring

How do | find the area and perimeter
of a shape?

What are perimeter and area?

Perimeter is the length around the outside of a
shape.

Area is the space inside a shape.

Example

The rectangle has a perimeter of:
5 + 3 + 5 4+ 3 = 16cm

The rectangle has a area of:

5 + 5 + 5 = 15cm?
B x 13 = lscmz(___]'akenoteof
the units!

Find the perimeter and area of this
rectangle:

Perimeter = 20cm

Area = 24cm?

Rectangles and Triangles

Can | calculate the perimeter and
area of a rectangle and triangle?




01/06/2020

The formulae to remember:

Rectangle:
Area = length x width
A=lw

Triangle:
Area = base x height + 2

A—lm
T2

Remember that the height is at right angles to
the base!

Two examples:

Example 1 Example 2

Find the area and perimeter of  Find the area of this triangle:
this rectangle:

6cm
8cm
12cm
Area=8x6 Area=5x12+2
Area = 48cm? Area = 60cm?+ 2
Perimeter=8+6+8+6 Area = 30cm?

Perimeter = 28cm

Have a go at some:

Question 1 Question 2

Find the area of this triangle: ~ Find the perimeter and area of
this rectangle:

iicm

8cm

10cm

Answer: 35cm? "'
?

Answer:
Area = 88cm?
Perimeter = 38cm

None of these
are drawn to
scale

‘U Find the missing lengths:

6em
8cm Gem
8cm 5cm
9cm
Height = 4cm Height = 4cm Diameter = 12cm

Compound Shapes

Can | calculate the perimeter and
area of a compound shape?

What is a compound shape?

A compound shape is a shape that is made up of
lots of different shapes.

The key is to split the complex shape up into
simpler shapes, find the areas of the simple
shapes then add your areas together.
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An example

Find the area of this shape:
12cm
Area = 8x5 = ddem? |

\Area=8x0| g.m
=32em®

8cm
3cm

Split it up!

Area =40 + 32 = 72cm?

Another example

Find the area of this shape:

Ala
o 2h 3m
= 135m?

6m | Area=9x6=54m*

9m
Splititup!

Area =54 +13.5 = 67.5cm?

A couple of questions:

Question 1 Question 2

Find the area of this shape: Find the area of this shape:
12cm e

S5cm 8m

6cm  10m

A,
Answer: 66cm? Answer; 119.3m?
=/’

Volume of Cuboids

Can | calculate the volume of a
cuboid?

w®

How to calculate the volume of a
cuboid:

A cuboid is a prism, which means that it has the
same cross-section all the way through.

Find the area of the cross-section then multiply by
the length.

Volume = Height x Width x Length
V = hwl

This is how you calculate the volume of all prisms.

An example:

Find the volume of this cuboid:

3cm

S5cm

Volume=3x5x4

Volume = 60cm3—_Take note of
the units!
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Another example, working backwards:

Find the height of this cuboid:

280cm3®=10x7xh
h=280+(10x7)
h=4cm

Two questions to have a go at:

Question 1 Question 2

Find the volume of this cuboid;  The tank below contains exactly
100 litres of water, How far up
the tank does the water go?

{Hint: 1 litre = 1000cm?)

Answer: 240cm? ' Answer: 0.2m or 20cm




Calculate the Perimeter of
Composite Rectilinear Shapes

I can calculate the perimeter of simple composite rectilinear shapes.

Add the length of each side to find the perimeter of each shape. Not to Scale.

1. 2. 3.
9cm 5cm 8cm
3cm 5¢m
bcm 8
6cm cm i1lcm
3cm
3cm 5cm
2cm 5em
4 5. 6 3cm
12cm 3cm
2cm 6cm 6
cm
8cm 2cm 14cm 1lcm 8cm
6em 6bcm
10cm 2cm
5¢cm
9cm
17cm
5¢cm
10cm
7 8. 9
5cm
5cm
13cm 2cm
20cm 4em
licm
15¢ 6bcm 8cm
" ibem
18cm
hLem 6cm
licm
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Calculate the Perimeter of
Composite Rectilinear Shapes

Use this grid to draw four composite rectilinear shapes, not to scale, with a perimeter of 40cm.

Use this grid to draw four composite rectilinear shapes, not to scale, with a perimeter of 60cm.

w * Page 2 of 2 visit twinkl.com w




Calculate the Perimeter of
Composite Rectilinear Shapes

I can calcutate the perimeter of simple composite rectilinear shapes.

Add the length of each side to find the perimeter of each shape. Not to Scale,

1. 2. Lem 3. 12cm
gcm 4em
gcm 8cm
7cm Icm i5cm
L em
1l6cm
3cm
4 5 6 3cm
15cm hem
8cm
7cm 7Tcm 13cm
5cm
6cm
13cm 1lom
7cm
3em
19cm
7. 8. 12cm o
12cm 8cm
3cm
7cm 14 cm
hem 84 cm
27cm
10cm
46ecm
8cm
cm
8cm
W w % Page 1 of 2 visit twinkl.com




Calculate the Perimeter of
Composite Rectilinear Shapes

Draw four composite rectilinear shapes, not to scale, with a perimeter of 46cm.

Draw four composite rectilinear shapes, not to scale, with a perimeter of 72cm.

W ** Page 2 of 2 visit twinkl.com - :




Calculate the Perimeter of
Composite Rectilinear Shapes

I can measure the perimeter of simple composite rectilinear shapes.

Measure the length of each side of the shapes and add to find the perimeter.

1. 2.

w * * * Page 1 of 4 visit twinkl.com .o "




Calculate the Perimeter of
Composite Rectilinear Shapes

W * * * Page 2 of 4 visit twinklL.com




Calculate the Perimeter of
Composite Rectilinear Shapes
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Calculate the Perimeter of Composite
Rectilinear Shapes Answers

30
26
38
40
56
34
52
52
60

VDN O WN -

Page 2 answers will vary

*
»

30
50
54
A0
56
62
58
94
210

W@k W~

Page 2 answers will vary

* N

kW~

36
46
56
48
60

Page &4 of &
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1) Calculate the area and perimeter of the
following rectilinear shapes (not to scale).

a) 9cm b) . 6cm -
B - -
A
£
(5]
1
B
3
3 2.6cm
<+
A
) g
(&)
M~
B 1.4cm e, g
<3 P 8§
\J -
E
IS
Y

2) Give the missing values for each shape.

Perimeter =

a) _ 80mm _
Area = 32cm?
cm
Perimeter = 14m
b) 500cm Area = __m’

.l

x|

1) Calculate the area and perimeter of the
following rectilinear shapes (not to scale).

a)  9cm b) _ 6cm o
<G e >
A
E
(8]
n
<
3
g 2.6cm
<+
A
) g
(5]
P~
1L.4cm £
<— L (=}
=
-
£
(5]
~
Y
2) Give the missing values for each shape.
a) 80mm . Perimeter =
Area = 32cm?
cm
Perimeter = 14m
b) 500cm Area = __m’

>
-

g

1) Investigate if Alice’s and Oliver's statements
are true or false by drawing example shapes
for each.

| Alice |
I can draw two shapes
that have an area of 4cm?

but different perimeters,

1 can draw a shape
with the same perimeter
and the same area.

2) Three of these squares are made into a new shape.

Tcm

Tcm

BRI
I think that the new shape
has an area and perimeter

that is three times that of
the original square.

a) Do you agree with Ben's statement? What mistake do
you think he has made?

b) Give the area and perimeter of the new shape.

1) Investigate if Alice’s and Oliver's statements
are true or false by drawing example shapes

for each.

/' oliver
I can draw a shape
with the same perimeter
and the same area.

! Alice |
I can draw two shapes
that have an area of 4cm?
but different perimeters.

2) Three of these squares are made into a new shape.

Tcm

Tcm

has an area and perimeter
that is three times that of
the original square.

a) Do you agree with Ben's statement? What mistake do
you think he has made?

b) Give the area and perimeter of the new shape.




1) A shop sells fence panels with a wooden

frame going all the way round each
panel. The price of each panel is based

on the area of the panel and the length of
the wooden frame around the panel.

Use the prices given to investigate how much the
shop charges per square metre of the panel and per
metre for the wooden frame.

a) Each 1m? of fence panel costs:

b) 1 metre of wooden frame costs:

Give the size of rectilinear fence panel you could buy
from the shop with the following amounts of money.
(Remember the shop only sells fence panels which
have sides measuring a whole number of metres.)

a) £28
b) £30

A shop sells fence panels with a wooden
frame going all the way round each
panel. The price of each panel is based

on the area of the panel and the length of
the wooden frame around the panel.

Use the prices given to investigate how much the
shop charges per square metre of the panel and per
metre for the wooden frame.

a) Each 1m? of fence panel costs:

b) 1 metre of wooden frame costs:

1) Give the size of rectilinear fence panel you could buy

from the shop with the following amounts of money.
(Remember the shop only sells fence panels which
have sides measuring a whole number of metres.)

a) £28
b) £30

twinkl.com




PASSPORT

Cross curricular topic based on Australia

You will need to carry out some research to get to know Australia before
you start:

1) Locate Australia on a world map. Make note of its hemisphere, latitude,
longitude and countries and oceans surrounding it. Is it an island or a
landlocked country?

2) Make comparisons of Australia's size, population, terrains, and climate to
those of the UK's.

ZI*N B 3) |ist each of the States of Australia, and the State Capital City of each. :

Your next task is to produce a Tourism Marketing Video to promote
Australia using an iPad or iPhone.

To achieve this you will need to:
Watch a sample of existing videos.
Youtube search: Chile is waiting for you - Find your Chile,
Indonesia - A wonderful World
Greece, a 365-Day destination
Japan. A short travel film
Note - What do all these videos have in common? What is
included? What appeals to travellers? Do you want to go there? - How
do they entice you? ~ How long are the videos?

Consider what is unique about Australia. - List examples of T
outdoor activities, beautiful natural landscapes, art, culture, past, food, CZAIRSEIE.
sport, animals. *

Collect images to include in your movie. (Save/Copy into Camera
Roll)

Use the Trailer Story board or Film strip to plan the sequence of
scenes.

Prepare a script if you want to harrate or commentate on your
movie. What will you say? What image will it accompany?

Video any presentations.
WI N * ; Locate background music. YouTube search: Royalty Free Music.

O s e ‘ Explore iMovie software. Discover how to insert, edit and layer

images, video clips and audio.

Collate pictures, video clips, audio together. Edit where
hecessary. N

Save and share your work. Either email it to school or share with  ZalaSE.
family. ot R

twinkl.co.uk
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